
Product Name: TWM201
Art number: 402201

@
0800 634 2699

spares@techlink.uk.com



S

30KG
TWM201

[M-C] x 4
(M6 X 14)

[M-D] x 4
(M8 X 20) [M-E] x 4 [M-F] x 4  [M-G] x 8 

[M-A] x 4
(M4 X 14)

[M-B] x 4
(M5 X 14)

[S]

[W-A] x 2 [W-B] x 2 [W-C] x 2



x2

x2

W-A

W-C

x2

x2

x2

W-A

W-B

W-C

W-AW-C

W-C
W-A

W-B

2a

2b



3a

3b

x4

x4

x4

x4

x4

x4

M-A

M-B

M-C

M-D

M-A M-B M-C M-D

M-E

M-F

S

S

S

S

x4

x4

x4/8

M-D

M-F

M-F

M-G

M-G

M-G

M-E M-F

M-D



4

TWM201 REV1


